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Conversion Factor Assessment
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f[MHz] Validity [MHz]®  Tissue Permittivity Conductivity Alpha Depth  ConvF Uncertainty

900 800-1000 Head 41.5%x5% 0.97+5% 0.24 093 9.88 % 11.3% (k=2)
1800  1710-1910 Head 40.0+ 5% 1.40 £ 5% 009 274 8.46 +11.7% (k=2)
5200 4940-5460 Head 36.0+5% 4.66+5% 0.45 1.80 4.88 £21.8% (k=2)
5800 5510-6090 Head 353+5% 527+5% 0.45 1.80 4,50 £23.4% (k=2)
5200  4940-5460 Body 49.0x5% 5.30+5% 0.45 1.90 4.29 +21.8% (k=2)
5800 5510-8090 Body 482+5% 6.00+5% 0.43 1.90 3.96 £23.4% (k=2)

B The total standard uncertainty is calculated as root-sum-square of standard uncertainty of the Conversion Factor at calibration
frequency and the standard uncertainty for the indicated frequency band.
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Deviation from Isotropy in HSL
Error (6,0 ), f= 900 MHz

Error [dB]

@-1.00--0.80 @-0.80--0.60 W-0.60--0.40 M-0.40--0.20 M-0.20-0.00

00.00-020 ME0.20-040 [E040-060 [—D0.60-0.80 [E0.80-1.00

Spherical Isotropy Error < £ 0.4 dB

Page 8 of 8





